37 BARETEREARERLY 3

% = :?;_'3'3 f(f“j‘ﬁ%ﬁwé ¢ ;%_B Hp o =3 1 p
Bkt #f, .
W & < ~ 7 igNs
& v H
‘iﬂa ERVEE ‘
=N
B oA ¥
¥ OF koot
- ht
¥ E &
id; %}{,
N nl R
. s ST
- i kgg (€ sl A d o )
LA EERE RS P EE SISt LR RN ST M L)
=z~ &bﬁg\é‘.y" 3 ‘4—?% 2 '%‘L A2 E’/”\’}ﬁpgc 5 aEA 22 AR
' gg—?]z,_};!fl;g\,Ai/A\;épéfio
e s R E i R ES A
~ T \9}\%7}_};&@”7%#; %‘%ggagg_paéfio
) []= ~ # ’F%%@”’*?ﬂﬁ“’ké‘i%%?@ﬁ°
{% []= ~ = J\%#}g&wﬁg\gx% FrEZE 4 o
i FR| (2P FRRTrET)
RE AR A T
bzt i OO00000000
T
Ci 21
NIm Ao ;é,j%'—_
Lore- syl s OOOOHOO0






B A ey

(6 % )ri b h FALA

¥ RFE ¥ * ¥ R #H |8 3
Fef FAEE EE TEENIEE
“/Av\’”%%”i- R PR
¥FEER FEZRBLHE2 %S | FEFeE A E | - BB
EEEEZED (L £33 M) AR B R 7P GERD)
1.
2.
3.
BAY ¥ ZEAERGIED X WP
108 A+ B8 []7
O# i 3 B o
©xpal + ¥ = s Beo ¥
[J% % s Beo =%
LR & feoo R
(] Beo ¥
Oif % Bt :
hE OB ARE: A/RAJRME:  A/FA[J@i g A[FA
pE e [ Ak:_ A/ A[JRME:_ A/F A[@ik:_ ~/F4
B e
Oy #3341 [IRFME - MERE A
WERCIEE ¥ 4 HER
O F7F & : (1% (&
Of ¥ F3# 15 E:
© w&E> S (FE) -
2.8 % B R 17
#
OQ#cE - * o
O D‘E%& BRE_ e =F
[JpFes" FE_ B =%
O % Bt -
AE O OBAFE: A7 B R | P
pE: [OJp*tZ2E: ~IpEC) T les B E ~ /P
H o i
Q@i g st [ORFHE (&= 5 MERE A

ERTEE
Hy
Hy

e
(&
(&

1§$




3. (3
[l
O#xE @ =3 i
O#x3l - =+ 2 oo R
RN JrE A
Oif 7 1 -
hF o OORAE AWML ~lEALREE _ AE A
pE e [ORAE:_ AFAJBME :_ ~A/F AR ~/F A
H o i
@i 25ty [mFmi IE-R i RGN
BERCTRE ¥ S5 []# =
O &7 & : My [z
O 5 i - L7 E
© @ 2 Gra)
48 %% % %
[ &
O#xE @ =3 o
Oxp3l - gt > oo ¥
[[Jw 4 % e =%
[ pagest o
[J# o 2%
O 7 %t
g
O+ % Alp e+ ~lpE

B o

e

=

PN

&=

~ [pF

~ [pF

~ [pF

PN

&=

o

~ [pF

~ [pF

~ [pF

~ [pF




ixe

ul
4l

=

o~

&l

Rl /,ﬂ: .w,,:nr

HEE"S

by

O# i :

8. A ke B

ixe

ul
4l

A=

o~

&l

Air:




/gi@g%?}ﬁ

EART REERT &




SEE R AR
ERARSACEKE R FRZELE IR
BESPHE B -KBEF -~ 7

r"“ q‘a—
~ N1
Slé;
-
S
=
Rd
P

1]
R

EQ AR - - T
ERASACEE R FARZELEAZERLIMETEA







e
5 B 3? "é‘/m 12 e F
| GHP 715 5 2°) L
zLig.p B=* § (CMD)
A E
A A
Bp % §(CMD)
LB p 2% § (CMD)
P
A A
Bp B £ (CMD)
& v (M)
B+ per g (M
ME W FEE A N A REEARY P E 2 AT Rp
1. p5EE* § 0 % F#x05mx % xp #h= ik
2. B:‘%’f;;%»’*fﬁ. 5 R #cx0.5mPx i * Sx p o= e
3. p AR B B oA A #x0.25m3xiE * Fxp ek Bk




